LOGARITMOS

Problema 40:

Resolver la siguiente ecuacion:
log(x + 5) —log(3x + 25) = log(x — 15) —log 17

Solucion Problema 40:

log(x + 5) —log(3x + 25) = log(x — 15) —log 17

Aplicando las reglas de los logaritmos:

l x+5 _ x — 15
°93x+25 99717
x+5 _x—15

3x +25 17
Operando:

17(x +5) = (x — 15)(3x + 25)
17x + 85 = 3x 2 — 45x + 25 — 375

3x2—-37x—460=0

_ 37++1369+5520 37++6889 37483

*= 6 — T 6 6
37+83 120 .
X, = = = 20 solucidn valida
6 6
37—-83 —46 23 .. .
Xy = e = 5 T 3 solucion no valida
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